
INTERMEDIATE EXAMINATION 2021 (ANNUAL)

MODEL SET

Physics ¼HkkSfrd 'kkL=½

Instructions for the candidates :-

1. Candidates are required to give answers in their own words as far

as practicable.

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA

2. Figures in the right hand margin indicate full marks.

nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrk gSaA

3. 15 Minutes of extra time have been allotted for candidates to read

the questions carefully.

bl iz'u i= dks /;kuiwoZd i<+us ds fy;s 15 feuV dk vfrfjDr le; fn;k x;k

gSA

4. This question paper is divided into two sections: Section-A and

Section-B

;g iz'u i= nks [k.Mksa esa gS] [k.M&v ,oa [k.M&c

5. In Section A, there are 70 objective type questions, out of which

any 35 questions are to be answered. If more than 35 questions

are answered, then only first 35 question will be evaluated.  Each

le; % 3 ?kaVs 15 feuV
Time : 3 Hours 15 Minutes

iw.kkZad & 70
Full Marks - 70

117

dqy iz'uksa dh la[;k 70 $ 20 $ 06 ¾ 96
Total No. of questions 70 + 20+ 06 = 96



questions carries1 mark, Darken the circle with black/blue ball

pen against the correct option on OMR-Answer Sheet provided to

you. Do not use Whitener/Liquid/Blade/Nail etc on OMR answer Sheet

otherwise the result will be invalid.

[k.M&v esa 70 oLrqfu"B iz'u gSa] ftuesa ls fdUgha 35 iz'uksa dk mÙkj nsuk vfuok;Z

gSA 35 iz'uksa ls vf/kd iz'uksa  ds mÙkj nsus ij izFke 35 iz'uksa dk gh ewY;kadu gksxkA

izR;sd ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k djk;s x;s vks

,e vkj&mÙkj i=d esa fn;s x;s lgh fodYi okys òÙk dks dkys ;k uhys ckWy isu

ls izxk<+ djsaA fdlh Hkh izdkj dk OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk

vks ,e vkj mÙkj&i=d esa iz;ksx djuk oftZr gS] vU;Fkk ijh{kk ifj.kke vekU;

gksxkA

6. In section-B, there are 20 short answer type questions, each carrying

2 marks, out of which only 10 (ten) questions are to be answered.

Apart from this, there are 06 long answer type questions. Each

carrying 5 marks, out of which 3 questions are to be answered.

[k.M&c esa 20 y?kq mÙkjh; iz'u gSaA izR;sd ds fy;s nks vad fu/kkZfjr gS] ftuesa ls

fdlh 10 iz'uksa dk mÙkj nsuk vfuok;Z gSA blds vfrfjDr] bl [k.M esa 06 nh?kZ

mÙkjh; iz'u fn;s x;s gSa] izR;sd ds fy;s 5 vad fu/kkZfjr gS] ftuesa ls fdUgha 3 iz'uksa

dk mÙkj nsuk gSA

7. Use of any electronic appliances is strictly prohibited.

fdlh izdkj ds bysDVªkWfud midj.k dk mi;ksx iw.kZr;k oftZr gSA



SECTION-A (Objective Type Questions)

[k.M&v ¼oLrqfu"B iz'u½

Questions nos. 1 to 70 have four options; out of which only one is

correct. You have to mark your selected option by blackening the circle

on the OMR-Sheet.  (35x1=35)

fuEufyf[kr iz'u la[;k 1 ls 70 rd ds izR;sd iz'u ds mÙkj ds pkj fodYi fn, x,

gSa] ftuesa ls ,d lgh gSA vius }kjk pqus x, lgh fodYi dks OMR mÙkj i=d ij fn;s

x;s o`Ùk dks izxk<+ dj fpfUgr djsaA  (35x1=35)

1- vkosf'kr lery pkyd ds utnhd fo|qr~ {ks= gksrk gS &

A. E = B.

C. E =  
0
. D. E =

Electric field near a charged plane conductor is

A. E = B.

C. E = 
0
. D. E =

2- fo|qr&{ks= ¼E½ vkSj fo|qr&foHko ¼V½ ds chp fuEufyf[kr esa dkSu lacU/k lgh gS \

A. E = - B. E =

C. V = D. V = -

Which of the following relation between electric field (E) and electric

potential (V) is correct ?

A. E = - B. E =


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
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C. V = D. V = -

3- 9 km f=T;k okys xksyh; pkyd dh fo|qrh; /kkfjrk gksrh gS &

A. 1 F B. 2 F

C. 1 F D. 9 F

Electrical capacity of spherical conductor of radius 9 km is

A. 1 F B. 2 F

C. 1 F D. 9 F

4- lekarj&ifV~Vdk la/kkfj= dk /kkfjrk gksrk gS &

A. B.

C. D.

Capacitance of parallel plate capacitor is -

A. B.

C. D.

5- xSyosuksehVj dk izfrjks/k ^G* vkSj oksYVehVj dk izfrjks/k ^V* ds chp fuEufyf[kr

esa dkSu lacU/k lgh gS \

A. V > G B. G > V

C. V = G D. /kkjk ij fuHkZj djrk gSA

Which of the following relation between 'G' the resistance of

galvanometer and 'V', the resistance of voltmeter is correct ?

A. V > G B. G > V

dE
dr

dE
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rA
d

rd
A

A
rd

d
r.A

rA
d

rd
A

A
rd

d
r.A



C. V = G D. depends upon the current

6- g~ohVLVksu fczt dk O;kogkfjd <k¡pk fuEufyf[kr esa dkSu gS \

A. foHkoekih B. oksYVehVj

C. ehVj fczt D. xSyosuksehVj

Which of the following is the applied form of wheatstone bridge ?

A. potentiometer B. voltmeter

C. metre bridge D. galvanometer

7- ,d rkj dk fof'k"V izfrjks/k fuHkZj djrk gS blds &

A. yEckbZ ij B. vuqizLFk dkV ds O;kl ij

C. nzO;eku ij D. inkFkZ dh izd`fr ij

The specific resistance of a wirre depends upon its

A. length B. diameter of cross-section

C. mass D. nature of material

8- fddZgkWQ ds fcUnq&fu;e esa fuEufyf[kr esa dkSu HkkSfrd jkf'k lajf{kr jgrh gS\

A. ÅtkZ B. vkos'k

C. laosx D. nzO;eku

Which of the following physical quantity is conserved in Kirchoff's

point-rule ?

A. energy B. charge

C. momentum D. mass



9- /kkjkokgh pkyd ds vUnj bysDVªkWu dh xfr gksrh gS &

A. le:i B. Rofjr

C. ,d :i vkSlr D. voeafnr

Motion of electron inside a conductor is

A. uniform B. accelerated

C. uniform average D. decelerated

10- fo|qr~&ifjiFk dh 'kfDr gksrh gS &

A. V. R. B. V2R

C. D. V2.R.I.

Power of electric circuit is -

A. V. R. B. V2R

C. D. V2.R.I.

11- pqacdh; {ks= esa xfr'khy vkos'k ij cy ds fy, fuEufyf[kr esa dkSu lgh gS \

A. F = q (B x V) B. F = q (V x B)

C. F = D. F =

Which of the following is correct for force on moving charge in a

magnetic field ?

A. F = q (B x V) B. F = q (V x B)

C. F = D. F =

12- pqacdh; QyDl dk ek=d gksrk gS &

V2

R
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R
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A. ,fEi;j B. QSjkM

C. Vslyk D. oscj

The unit of magnetic flux is

A. ampere B. farad

C. tesla D. weber

13- ftl ifjiFk esa flQZ izfrjks/k gS mldk 'kfDr xq.kkad gS &

A. 1 B. 0

C. D.

Power factor of a circuit having resistance only is -

A. 1 B. 0

C. D.

14- izR;korhZ /kkjk dk ewy oxZ ek/; eku gksrk gS

A. 2 x f'k[kj /kkjk dk eku B.

C. D.

Root mean square value of alternating current is equal to

A. 2 x Peak current B.

C. D.

15- ,d pqEcd ds pqEcdh; yEckbZ ¼Lm½ vkSj T;kferh; yEckbZ ¼Lg½ ds chp fuEufyf[kr

esa dkSu lgh lacU/k gS \

A. Lg =      Lm B. Lg =     Lm

R
R2 + 1/W2C2

R
R2 + W2L2

R
R2 + 1/W2C2

R
R2 + W2L2

f'k[kj /kkjk dk eku
2

vkSlr /kkjk dk eku
2

f'k[kj /kkjk dk eku
2

Peak current
2

Average current
2

Peak current
2

6
5

5
6



C. Lg = Lm D. Lg = 2 Lm

Which of the following is the correct relation between geometric

length (Lg) and magnetic length (Lm) of a magnet ?

A. Lg =      Lm B. Lg =     Lm

C. Lg = Lm D. Lg = 2 Lm

16- ;fn B
H  
ìFoh ds pqEcdh; {ks= dk {kSfrt ?kVdvkSj ueu dks.k gks rks i`Foh ds

pqEcdh; {ks= ds fy;s fuEufyf[kr esa dkSu lgh gS \

A. B. B
H
 . cos

C. B
H
 sin D.

Which of the following is correct for earth's magnetic field, if B
H

horizonatal componet of earth magnetic field and is angle of dip.

A. B. B
H
 . cos

C. B
H
 sin D.

17- pqacdu rhozrk dh bdkbZ gS

A. A.m. B. Am2

C. A.m-1 D. A.m-2

The unit of intensity of magnetisation is

A. A.m. B. Am2

C. A.m-1 D. A.m-2

18- pqacdh; ;kE;ksÙkj gS

6
5

5
6

B
H
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B
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B
H

cos
B

H

sin



A. ,d fcUnq B. ,d js[kk

C. ,d {kSfrt ry D. ,d m/okZ/kj ry

Magnetic meridian is -

A. a point B. a line

C. a horizontal plane D. a vertical plane

19- lkekU; lek;kstu esa] ljy lw{en'khZ dk vko/kZu&{kerk gksrk gS &

A. (1 +     ) B.

C. (1 +    ) D.

The magnifying power of simple micriscope in normal adjustment

is

A. (1 +     ) B.

C. (1 +    ) D.

20- lkekU; vk¡[k&ysUl dk Qksdl&nwjh yxHkx gksrk gS &

A. 1 mm B. 2 cm

C. 25 cm D. 1 m

The focal-length of a normal eye-lens is about

A. 1 mm B. 2 cm

C. 25 cm D. 1 m

21- ghjk dk Økafrd dks.k gksrk gS &

A. 24-410 B. 37-310

D
f

D
f

f
D

f
D

D
f

D
f

f
D

f
D



C. 48-750 D. 41-140

Critical angle for diamond is -

A. 24-410 B. 37-310

C. 48-750 D. 41-140

22- nks laifdZr mÙky ysalksa dk lerqY; ysUl gksrk gS &

A. mÙky B. vory

C. osyukdkj D. lerykory

The equivalent lens of two convex lenses in contct is

A. Convex B. Concave

C. Cylindrical D. Plano Concave

23- izdkf'krUrq dk ewy fl)kUr gS &

A. ijkorZu B. izdh.kZu

C. foorZu D. iw.kZ vkUrfjd ijkorZu

The basic principle of optical fibre is

A. reflection B. scattering

C. diffraction D. total internal reflection

24- lkekU; vk¡[k ds fy, Li"V nf̀"V ds fy, U;wure nwjh gksrh gS &

A. 100 cm B. 50 cm

C. 250 cm D. 25 cm

The least distance for clear vision for normal eye is



A. 100 cm B. 50 cm

C. 250 cm D. 25 cm

25- banz/kuq"k ds fuekZ.k ds fy, fuEufyf[kr esa izdk'k dh dkSu lh ?kVuk lgh gS \

A. izdh.kZu B. foorZu

C. o.kZ&fc{ksi.k D. /kzqohdj.k

Which of the following phenomena of light is correct for the

formation of rainbow?

A. scattering B. diffraction

C. dispersion D. polarisation

26- fdl jax ds izdk'k ds fy, dk¡p dk viorZukad vf/kd gksrk gS \

A. yky B. cSxuh

C. gjk D. uhyk

The refractive index of glass is more for which colour of light ?

A. red B. violet

C. green D. blue

27- fouk'kdkjh O;frdj.k ds fy, iFkkarj gksrk gS &

A. n B. (2n + 1)/2

C. D. 'kwU;

The Path difference for destructive interferenc is

A. n B. (2n + 1)/2

n
2



C. D. Zero

28- izdk'k dh vuqizLFk rjax izdf̀r dks fuEufyf[kr esa dkSu ?kVuk iqf"V djrk gS \

A. ijkorZu B. o.kZ&fo{kis.k

C. O;fDrdj.k D. /kzqohdj.k

Which of the following phenomena confirms the transverse wave

nature of light ?

A. reflection B. dispersion

C. interference D. polarisation

29- vojks/k ds fdukjksa ls izdk'k dk eqM+uk dgykrk gS &

A. O;frdj.k B. foorZu

C. ijkorZu D. viorZu

Bending of light from the corners of an obstacle is called -

A. interference B. diffraction

C. reflection D. refraction

30- pk¡nh dk dk;Z&Qyu gksrk gS &

A. 2.5 ev B. 3.2 ev

C. 6.5 ev D. 4.7 ev

Work-function of silver is

A. 2.5 ev B. 3.2 ev

C. 6.5 ev D. 4.7 ev

n
2



31- Iykad fu;rkad dk eku gksrk gS &

A. 6.626 x 10-30 J.S. B. 6.626 x 10-32 J.S.

C. 6.626 x 10-34 J.S. D. 6.626 x 10-31 J.S.

The value of planck constant is -

A. 6.626 x 10-30 J.S. B. 6.626 x 10-32 J.S.

C. 6.626 x 10-34 J.S. D. 6.626 x 10-31 J.S.

32- QksVkWu dk xfrd nzO;eku gksrk gS &

A. 'kwU; B.

C. D.

Dynamic Mass of photon is

A. zero B.

C. D.

33- fuEufyf[kr esa dkSu Js.kh ijkcSxuh ifjlj esa gS \

A. ykbeu Js.kh B. ckej Js.kh

C. ik'pu Js.kh D. czSdsV Js.kh

Which of the following series is in ultraviolet region ?

A. Lyman series B. Balmer series

C. Paschen series D. Brackett series

34- jsfM;ks,sfDVfoVh ds fy, fuEufyf[kr esa dkSu mi;qDr ugha gS &

A. ukfHkdh; ?kVuk B. izkd`frd ?kVuk

h
c

h
c
hc


h
c

h
c
hc




C. ijek.kfod ?kVuk D. Lor% LQwrZ ?kVuk

Which of the following is not applicable for radioactivity ?

A. nuclear phenomena B. natural phenomena

C. atomic phenomena D. spontaneous Phenomena

35- rsth ls pyus okyk bysDVªkWu gksrk gS &

A. &fdj.ksa B. &fdj.ksa

C. &fdj.ksa D. x&fdj.ksa

Fast moving electrons are

A. -rays B. -rays

C. -rays D. x-rays

36- & d.k gksrk gS

A. bysDVªku B. fo|qr&pqEcdh; fofdj.k

C. ghfy;e ukfHkd D. gkbMªkstu ukfHkd

-particle is -

A. electron B. electromagnetic radiation

C. helium nucleus D. hydrogen nucleus

37- izs"kh ,.Vhuk dh ijkl ¼d½] T.V. izs"k.k Vkoj dh Å¡pkbZ ¼h½ vkSj i`Foh dh f=T;k ¼R½

ds chp laca/k gksrk gS &

A. Rh = d B. d = 2hR

C. d = 3Rh D. d = 5Rh



The relation among ragne of transmitting antenna (d), height of T.V.

transmssion tower (h) and radius of earth (R) is -

A. Rh = d B. d = 2hR

C. d = 3Rh D. d = 5Rh

38- ewy&voLFkk esa gkbMªkstu ijek.kq dh ÅtkZ gksrh gS &

A. -0.85 ev B. -1.5 ev

C. -3.4 ev D. -13.6 ev

Energy of hydrogen atom in the ground state is

A. -0.85 ev B. -1.5 ev

C. -3.4 ev D. -13.6 ev

39- tc vinzO; dks uSt v)Zpkyd esa ekfnr fd;k tkrk gS rc v)Zpkyd dh pkydrk

A. c<+rh gS B. ?kVrh gS

C. leku jgrh gS D. 'kwU; gks tkrh gS

When an impurity is doped into an intrinsic semiconductor its

conductivity

A. increases B. decreases

C. remains the same D. becomes zero

40- NOR xsV dk cwfy;u O;atd gksrk gS &

A. Y = A + B B. Y = A.B

C. Y = A + B D. Y = A.B



The Boolean expression for NOR gate is

A. Y = A + B B. Y = A.B

C. Y = A + B D. Y = A.B

41- v/kZ rjaxh fn"Vdj.k esa] 50Hz ds fuos'k vko`fÙk ds fy, fuEufyf[kr esa dkSu lgh

fuxZe vkòfÙk gS \

A. 25 Hz B. 50 Hz

C. 100 Hz D. 200 Hz

Which of the following is the correct output frequency for input

frequency of 50Hz in half wave rectification ?

A. 25 Hz B. 50 Hz

C. 100 Hz D. 200 Hz

42- f}vk/kkjh la[;k ¼11110½
2
 dk n'kfed la[;k fuEufyf[kr esa dkSu gS \

A. (20)
10

B. (30)
10

C. (40)
10

D. (50)
10

Which of the following is the decimal number of binary number

(11110)
2
?

A. (20)
10

B. (30)
10

C. (40)
10

D. (50)
10

43- bysDVªkWu ij vkos'k gksrk gS &

A. e = -1.6 x 10-16c B. e = -1.6 x 10-17c



C. e = -1.6 x 10-18c D. e = -1.6 x 10-19c

Charge on an electron is

A. e = -1.6 x 10-16c B. e = -1.6 x 10-17c

C. e = -1.6 x 10-18c D. e = -1.6 x 10-19c

44- ds cjkcj gS &

A. 8.854 x 10-10 B. 8.854 x 10-11

C. 8.854 x 10-12 D. 8.854 x 10-13

is equal to

A. 8.854 x 10-10 B. 8.854 x 10-11

C. 8.854 x 10-12 D. 8.854 x 10-13

45- f}/kzqo&vk?kw.kZ ds fy, fuEufyf[kr esa dkSu lgh gS \

A. 1 fMckbZ ¾    x 10-29 lseh0 B. 1 fMckbZ ¾ 10-29 lseh 0

C. 1 fMckbZ ¾ 10-30 lseh0 D. 1 fMckbZ ¾    lseh0

Which of the following is correct for dipole-moment ?

A. 1 debye =      x 10-29 cm B. 1 debye = 10-29 cm

C. 1 debye = 10-30 cm D. 1 debye =      cm

46- fp= esa A vkSj B ds chp lerqY; /kkfjrk gS &

A. B.

C. 3C D.

The equivalent capacity between A and B in figure is

c2

Nm2

c2

Nm2

c2

Nm2

c2

Nm2

c2

Nm2

c2

Nm2

c2

Nm2

c2

Nm2

1
3

1
3

1
3

1
3

A B
CC C

C
2

C
3

2
C



A. B.

C. 3C D.

47- fuEufyf[kr esa dkSu laca/k lgh gS \

A. 1 A = 103 mA B. 1 A = 106 mA

C. 1 A = 10-3 mA D. 1 A = 10-6 mA

Which of the following relation is correct ?

A. 1 A = 103 mA B. 1 A = 106 mA

C. 1 A = 10-3 mA D. 1 A = 10-6 mA

48- fuEufyf[kr esa dkSu laca/k lgh gS \

A. /kkjk ?kuRo ¾ B. /kkjk ?kuRo ¾ I.A

C. /kkjk ?kuRo ¾ D. /kkjk ?kuRo ¾ I. A2

Which of the following relation is correct ?

A. Current density = B. Current density = I.A

C. Current density = D. Current density = I. A2

49- izfrjks/k ds fy, fuEufyf[kr esa dkSu laca/k lgh gS \

A. R = B. R =

C. R = . A. L. D. R =

Which of the following relation is correct for resistance ?

A. R = B. R =

C
2

C
3

2
C

A B
CC C

I
A

I
A2

I
A

I
A2

L
A

L2

A

A
L

L
A

A
L



C. R = . A. L. D. R =

50- fp= esa I dk eku gksxk &

A. 10 A B. 30 A

C. 40 A D. 15 A

The value of I in figure, will be -

A. 10 A B. 30 A

C. 40 A D. 15 A

51- foHkoekih ls fuEufyf[kr esa dkSu ekik tkrk gS \

A. izfrjks/k B. /kkjk

C. lsy dk e. m. f. D. buesa ls dksbZ ugha

Which of the following measured by potentiometer ?

A. resistance B. current

C. e.m.f. of cell D. none of these

52- 1 KWH ds cjkcj gksrk gS &

A. 3.6 x 103 J B. 3.6 x 104 J

C. 3.6 x 106 J D. 3.6 x 10-5 J

1 KWH is equal to

A. 3.6 x 103 J B. 3.6 x 104 J

C. 3.6 x 106 J D. 3.6 x 10-5 J

53- 1 Vslyk gksrk gS &

L2

A







  
10A

20A

10A


I







  
10A

20A

10A


I



A. 1 oscj@lseh2 B. 1 oscj@eh2

C. 1 oscj - lseh2 D. 1 oscj - eh2

1 tesla is

A. 1 weber/cm2 B. 1 weber/m2

C. 1 weber . cm2 D. 1 weber . m2

54- pqEcdh; ¶yDl ¼½ gksrk gS &

A. = B. A B.  = B x A

C. = D. =

Magnetic flux ¼½ is

A.  = B. A B.  = B x A

C. = D. =

55- fo|qr pqEcdh; rjax dk osx gksrk gS &

A. C =  B. C =

C. C =  D. C = 

Velocity of electromagnetic wave is

A. C =  B. C =

C. C =  D. C = 

56- QksVkWu dk ÅtkZ gksrk gS &

A. E = h B. E =

C. E = D. E =

   

A
B

B
A

A
B

B
A


 

1


 



 

1


 


h



h

h


   



Energy of photon is -

A. E = h B. E =

C. E = D. E =

57- 1 ev ds cjkcj gksrk gS &

A. 1.6 x 10-19 J B. 1.6 x 1019 J

C. 1.6 x 1016 J D. 1.6 x 10-16 J

1 ev is equal to

A. 1.6 x 10-19 J B. 1.6 x 1019 J

C. 1.6 x 1016 J D. 1.6 x 10-16 J

58- fuEufyf[kr esa dkSu lgh gS \

A. (111)
2
 = (7)

10
B. (100)

2
 = (7)

10

C. (101)
2
 = (7)

10
D. (110)

2
 = (7)

10

Which of the following is correct ?

A. (111)
2
 = (7)

10
B. (100)

2
 = (7)

10

C. (101)
2
 = (7)

10
D. (110)

2
 = (7)

10

59- f}vk/kkjh ;ksx ds fy, fuEufyf[kr esa dkSu lgh ugha gS \

A. 0 + 0 = 0 B. 0 + 1 = 1

C. 1 + 0 = 1 D. 1 + 1 = 1

Which of the following is not correct for binary addition ?

A. 0 + 0 = 0 B. 0 + 1 = 1

h



h

h





C. 1 + 0 = 1 D. 1 + 1 = 1

60- fdlh mPpk;h VªkalQkWeZj esa ;fn izkbejh vkSj lsdsaMjh dqaMyh esa Øe'k% N
1
 vkSj N

2

yisVs gS rc

A. N
1
 > N

2
B. N

2
 > N

1

C. N
1
 = N

2
D. N

1
 >> N

2

In a step up transformer if number of turns in primary coil and sec

ondary coil are N
1
 and N

2
 respecrively, then

A. N
1
 > N

2
B. N

2
 > N

1

C. N
1
 = N

2
D. N

1
 >> N

2

61- gkbMªkstu o.kZØe dh dkSu lh Js.kh n'̀; Hkkx esa iM+rh gS \

A. ckej Js.kh B. czSdsV Js.kh

C. ykbeu Js.kh D. ik'pu Js.kh

Which series of hydrogen spectrum lies in visible region ?

A. Balmer series B. Brackett series

C. Lyman series D. Paschen series

62- mÙky ysal dh Qksdl nwjh 1 ehVj gS] bldh 'kfDr gksxh &

A. P = 100 D B. P = 10 D

C. P = 1 D D. P = 0.5 D

Focal length of convex lens is 1m, its power will be

A. P = 100 D B. P = 10 D



C. P = 1 D D. P = 0.5 D

63- la;qDr lw{en'khZ ds fy, fuEufyf[kr esa dkSu lgh gS \

A. f
0
 > f

e
B. f

0
 < f

e

C. f
0
 = f

e
D. f

0
 >> f

e

Which of the following is correct for compound microscope ?

A. f
0
 > f

e
B. f

0
 < f

e
C. f

0
 = f

e
D. f

0
 >> f

e

64- irys fizTe }kjk U;wure fopyu dk dks.k gksrk gS &

A. (1 - )A B. (1 - A) C. ( - 1)A D. (A - 1)

Angle of minimum deviation by thin prism is :

A. (1 - )A B. (1 - A) C. ( - 1)A D. (A - 1)

65- izdk'k ds viorZu esa fuEufyf[kr esa dkSu HkkSfrd jkf'k ugha cnyrk gS \

A. rhozrk B. osx C. rjaxnS/;Z D. vko`fÙk

Which of the physical quantity does not change in refraction of light?

A. intensity B. velocity C. wave-length D. frequency

66- ;fn gok esa izdk'k dk osx Va vkSj ikuh esa izdk'k dk osx Vw gks rc

A. Va = Vw B. Va > Vw

C. Vw > Va D. Va = 2Vw

If velocity of light in air is Va and velocity of light in water is Vw then

A. Va = Vw B. Va > Vw C. Vw > Va D. Va = 2Vw

67- ty ds fy, Økafrd dks.k gksrk gS



A. 24.410 B. 37.310

C. 41.140 D. 48.750

Critical angle for water is

A. 24.410 B. 37.310

C. 41.140 D. 48.750

68- jpukRed O;frdj.k ds fy, dykarj gksrk gS

A. = 2n B.  = (2n + 1)

C. = n D.  = (n + 1)

Phase difference for constructive interference is

A. = 2n B.  = (2n + 1)

C. = n D.  = (n + 1)

69- izdhf.kZr izdk'k dh rhozrk ¼I½ ds fy, fuEufyf[kr esa dkSu lgh gS \

A. I  B. I 

C. I  D. I 

Which of the following is correct for intensisty of scattered light (I) ?

A. I  B. I 

C. I  D. I 

70- dk¡p ds lekarj lrg dh iV~Vh dk Qksdl nwjh gksrk gS &

A. 'kwU; B. vuar

C. 10 lseh D. 100 lseh

1


1



1


1



1


1



1


1





Focal-length of parallel sided glass slab is

A. zero B. infinity

C. 10 cm D. 100 cm

SECTION-B (Short Answer Type Questions)

[k.M&c ¼y?kq mÙkjh; iz'u½

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 ques-

tions. Each question carries 2 marks. 10 x 2 = 20

iz'u la[;k 1 ls 20 rd y?kq mÙkjh; iz'u gSaA fdUgha 10 iz'uksa dk mÙkj nsaA izR;sd

ds fy, 2 vad fu/kkZfjr gS % 10 x 2 = 20

1- lefoHkoh ry ls vki D;k le>rs gSa \ 2

What do you mean by equipotentia surface ?

2- fLFkj&fo|qr ds xk¡l izes; dks fy[ksaA 2

Write Gauss-theorem of electrostatics.

3- /kkjk ds m"eh; izHkko ds twy ds fu;eksa dks fy[ksaA 2

Write Joule's laws of heating effect of current.

4- izR;korhZ /kkjk ds vkSlr eku dks le>k;saA 2

Explain average value of an alternating current.

5- izdk'k&fo|qr izHkko ls vki D;k le>rs gSa \ 2

What do you mean by photoelectric effect. ?

6- chVk ¼½ fdj.kksa ds nks xq.kksa dks fy[ksaA 2



Write two properties of beta () rays.

7- p - izdkj ds v/kZpkyd dks le>k;saA 2

Explain p - type of semiconductor.

8- pkyu&iV~Vh ls vki D;k le>rs gSa \ 2

What do you mean by conduction band ?

9- izdk'k ds /kzqohdj.k dks le>k;saA 2

Explain polarisation of light.

10- vk;ke eksMqyu dks le>k;saA 2

Explain amplitude modulation.

11- fo|qr~&vuqukn dks le>k;saA 2

Explain electrical resonance.

12- fo|qr&{ks= js[kkvksa ls vki D;k le>rs gSa \ 2

What do you mean by electric field lines ?

13- la?kkfj=ksa ds Js.kho) la;kstu dks le>k;saA 2

Explain series combination of capacitors.

14- AND xsV dks le>k;saA 2

Explain AND-gate.

15- ek/;e dh pqcd'khyrk dks le>k;saA 2

Explain Permeability of a medium.

16- izkFkfed banz/kuq"k dks le>k;saA 2



ExplainPrimary rainbow.

17- cksj&fl)kar dh nks dfe;ksa dks fy[ksaA 2

Write two short comings of Bohr-Principle.

18- ueu&dks.k ls vki D;k le>rs gSa \ 2

What do you mean by angle of dip ?

19- fudV nf̀"V nks"k ls D;k le>rs gSa \ 2

What do you mean by Short sightedness ?

20- FAX ls vki D;k le>rs gSa \ 2

What do you mean by FAX ?

Long Answer Type Questions@nh?kZ mÙkjh; iz'u

Question Nos. 21 to 26 are Long Answer Type. Answer any 3 ques-

tions. Each question carries 5 marks. 3 x 5 = 15

iz'u la[;k 21 ls 26 rd nh?kZ mÙkjh; iz'u gSaA fdUgha 3 iz'uksa dk mÙkj nsaA izR;sd

iz'u ds fy, 5 vad fu/kkZfjr gS % 3 x 5 = 15

21- lekarj ifV~Vdk la?kkfj= dh /kkfjrk ds fy, O;atd izkIr djsaA 5

Find out the expression for capacitance of a parallel plate capacitor.

22- ,d py dqaMyh xSyosuksehV dh cukoV vkSj fØ;k dk o.kZu djsaA 5

Explain the construction and working of a moving coil galvanometer.

23- ekuo n`f"V&nks"k dks le>k;sa ,oa muds fuokj.k ds mik; crk;saA 5

Explain defects of vision of human eye and their remedies.



24- fopyu jfgr o.kZ&fo{ksi.k ds fy, vko';d 'krksZa dks Kkr djsaA 5

Find out the necessary conditions for dispersion without deviation.

25- izfrpqacdh; inkFkZ] vuqpqacdh; inkFkZ vkSj ykSg pqacdh; inkFkZ dks le>k;saA 5

Explain diamagnetic substance, paramagnetic substance and

ferromagnetic substance.

26- OR&}kjd] AND&}kjd vkSj NOT&}kjd dks le>k;saA 5

Explain OR- gate, AND-gate and NOT-gate.


